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“Financi
ancial management has expanded in its scope during
last " Di

few decades. D:scuss and contrast the salient features

of th iti l
e traditional and modern approaches to financial

management.
4

The income statement of PQR Ltd. for the current ye
ar

is as follows :

_ Particulars Amount(¥) | Amount (%)
Sales ‘
700,000
Less: > Costs
Materials 2,00,000
Labour 2,50,000
Other Operating costs 80,000
Depreciation 70,000
Total
6,00,000
Earnings Before Interest and Ta;&es (EBIT) 1,00,000
Less : Taxes @ 40% |
40,000
Earnings after Tax (EAT) 60
,000

W
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The plant manager proposes to replace an existing
machine by another machine costing  2,40,000. The new
méchine will have 8 years life having no salvage value.
It is estimated that new machine will reduce the labour
cost by T 50,000 per year. The old machine will realize
T 40,000. Income statement does not include the
dt;:preciation on old machine (the one that is going to be
replaced) as the same had been fully depreciated for tax
purposes last year though it will stiil continue to function,
if not replaced, for a few years more. It is believed that
there will be no change in other expenses and revenues
of the firm due to this replacement. The company requifes
an after-tax return of 12%. The rate of tax applicable to
company’s income is 30%. Suggest whether the company
should buy the new machine, assuming that the company
follows straight line met:l10d. of depreciation and the same
is allowed for tax purposes. | 11
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Or
“Wealth maximisation” is only a decision criterion and

not a goal of a firm. Explain. 4

EFG Technology Ltd. is considering a new project for
manufacturing of solar energy games kit involving a -
capital expenditure of ¥ 600 lakh and working capital of

P.T.O.
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< 150 lakh, The plant has capacity of annual production Lol A
year, an additional investment of

of 12 lakh units and capacity utilisation during 6-years o ol B e
r working capital. Termi
working life of the project is expected fo be as mentioned e 98 Tl IR IGHE & T 2 -
. may be taken as
0,
10% and for the current assets at 100%. Give suggestion

below :
to EFG Technology Ltd : ;
Year Capacity Utilisation (%) ) ogy Ltd. regarding taking up the new
project. : '
; 1
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4 100

6 100

The average price per unit of product is expected to
be T 200 netting a contribution of 40%. The annual s JUHT- &I (%)
fixed costs, excluding deprematlon, are estimated t0 be 1 _ 33 3
| Z 480 lakh per annum from the third year onwards; for 2 | 66.67‘
" the first year and second year, it would be T 240 lakh 3 " . s
and T 360 lakh respectively. Depreciation is charged 3
@ 33.33% on the basis of written down value (WDV) - ‘100
method. The rate of income tax may be taken as 35%. ’ 100
g et

The cost of capital is 15%.
P.TO.
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What is capital budgeting ? “Capital Budgeting decisions
are irreversible.” Do you agree ? Comment. 4

From -thc following information provided by MNO Ltd.,

you are required to calculate the weighted average cost

G} : 1207
of capital (k,) using Market Value Weights. The present .

book value capital structure of MNO Ltd. is :

(Amount in )

Debentures (¥ 100 per debenture) 10,00,000
Preference Shares (¥ 100 per share) ‘ 5,00,000
Equity Shares (3 10 per share) ©20,00,000
Retained !éarnings 5,00,000

40,00,000

All these securities are traded in the capital markets.
Recent prices are : debentures @ ¥ 110, preference shares

@ X 120 and equity shares @ ¥ 22. Anticipated external

financing opportunities are :

() T 100 per debentures redeemable at par : 20-year
maturity, 8% coupon rate, 4% floating costs, sale

price ¥ 100.

(i) X 100 preference shares redeemable at par : 15-year

maturity, 10% dividend rate, 5% floating costs, sale

price T 100.

(#ii)  Equity shares : ¥ 2 per share floating costs, sale

price ¥ 22.

PTO.
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In addition, the dividend expected on the equity shares
at the end of the year is ¥ 2 per share; the anticipated
growth rate in dividends is 5% and the company has the
practice of paying all its earnings in the form of dividends.

The corporate tax rate is 30%. 11
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Compare Net Present Value (NPV) with Profitability Index
(PI) method of evaluating a capital budgeting proposal.

Which one is better and why ? 4

There are two firms A Ltd. and B Ltd. which are identical
in all respects except in terms of their capital structure

as can be observed from the details given below :

Particulars A Ltd. B Ltd.
EBIT T 1,00,000 T 1,00,000
10% Debentures 7 5,00,000 -

k, ‘ 16% 12.5%

Calculate the value of the two firms and illustrate using
MM approach how an investor holding 10% shares of
A Ltd.will be benefited by switching over his investment
from A Ltd. to B Ltd. When will the arbitrage process

come to an end ? 11
T (NPV) &1 envgear geeies (p) fafs & germm
Fifem | wEE fafy Jea ¥ sk ==& 2
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faazor AfafiRs | b fofiee
EBIT ¥ 1,00,000 ¥ 1,00,000
10% fE=R | 2500000 “
k, ' 16% 12.5%
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What do you mean by Agency Problem ? How can this

be resolved ?
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(b)  The following is the selected financial information for the

year ended 3 Ist Marcﬁ, 2016 for two companies : X Ltd.

and Y Ltd. :

Particulars X Ltd. Y Ltd.
Variable cost as Percentage of Sales 66.67 i)
Interest Expense (T) 200 300
Degree of Operating Leverage 5 6

i
Degree of Financial leverage 3 4
Income tax rate 35% 35%

Prepare Income Statement of both companies and also

comment on their risk position.

11
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Why is consideration of the time value of.money

Important in ﬁnancia!_ decision-making ? How can time be

adjusted ?

4
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From the information given below, dete;"mine the
value of two firms (A Ltd. and B Ltd.) belonging to
l.lomogeneous risk class except in terms of capital structure
under (i) Net Income approach and (if) Net Obel;ating

Income approach :

. Details

A Ltd. B Ltd.

Earnings beforé interest and tax (EBIT) ¥ 2,25,000 | ¥2,25,000

Interest (0.15) : T 75,000 -
Equity Capitalisation Rate 020
Tax rate 1035

11
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year- an'nuai report of JKL Ltd. -
Earnings of firm

Number of equity shares

Return on investment

Cost of Equity

A
Afafies | pfafips
I | '
R T A ey S (EBIT) [ 2225000 | 22.25,000
=15(0.15) 375,000
St eftaor ox 020
E X84
035
4 ’ Gk e
(@) Discuss the Modigliani and Miller approach of irrelevance
of dividends. | :
4
(%)

The following information is collected from the current

T 18 lakh

3,00,000

22.5%

15%
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What should be the dividend payout ratio so as to keep 7 | Or.
the share price at ¥ 42 by using Walter Model ? Also, e
determine the optimum dividend payout ratio and the T S
market price of shares at the optimum dividend payout

nformational contents” of dividend payment ?

Enumerate the main determinants of dividend policy of
o ice
: d minimum share pr
: ill the maximum an
ratio. What will

the firm,
11
under this model ?
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X Ltd. belongs to a risk class for which appropriate

capitalisation rate js 10%. It currently has outstanding
25000 shares selling at ¥ 100 each. The firm js
|
w1 fag=m Hifeg
: =4 =1 arftE fad ¥ Hehferd contemplating the declaration of dividend of ¥ 5 per share
(@) Ik fafies i =g |
. 3 ' at the end of the current financial year. The company
gt fretferfea & .
CXpects to have a net income of 7 2.5 lakh and has a
- %18 @@
T i STEHE Proposal for making new investments of ¥ 5 Jakh.
; : 3,00,000
el wowE
22.5%
frdm W wfowe

Show that under MM assumption, the Payment of dividend

does not affect the value of the firm, Do you think MM
15%
et w1 @

model is realistic with respect to valuation 92 11
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Explain the Miller-Orr model of cash management. 4 °

GHI Limited is considering making its present credit
policy a bit strict. The company has current annual sales
of Z 60,00,000 and it is expected that implementation, of
the proposed credit policy would decrease the annual sales
to ¥ 48,00,000. The average collection period- would
decrease from 60 days to 45 days. The sale price of the
product is ¥ 40 and the variable cost involved in
manufacturing of a product is ¥ 30. On the volume of
1,50,000 units, the average cost is ¥ 34. Assume a year
comprises of 360 days. Give advice whether the proposed
strict credit policy shall be implemented if the firm's required

rate of return is 25%. 11
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Briefly explain the Economic Order Quantity (EOQ) model

of inventory management,

4
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The following information is extracted from last year’s
Annual accounts of ABC Ltd. :
Details Amount per Unit (%)
Raw Material cost 100
Direct labour cost 37.50
Overheads\cost 75
Total cost 21250
Profit 3750
- Selling Price 250

The company keeps raw material in stock on an average
for four weeks, work-in-progress in stock on an average
for one week and finished goods in stock on an dverage
for two weeks. The credit allowed by suppliers is three
weeks and company allows four weeks credit to its
debtors. The lag in payment of wages is one week and
lag in payment of overhead expenses is two weeks. The
company sells one-fifth of its output against cash and
maintains cash in hand and at bank balance put together

at ¥ 37,500.

in all respects.
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